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The objective of this research is to compare the interval estimation methods for the difference
between Two independent population proportions by comparing their confidence coefficients and average
confidence interval lengths. The estimation methods under consideration in this study are Classical method,
Newcombe's method, Jeffrey's method and Recentered method. The comparison was done under
conditions of two case sample size: equal (. = 2) and unequal sample size . *«2): the value of 2are
5,10,20,30,40,50,60 and 70, . > 2 and the percentage of difference between two sample size is 20%, 40%,
60%, 80%, 100%, 140%, 180% and 200% the adsolute of difference hetween two population proportions
{p\ - P1i) are ranging from 0 to 0.8 increasing by 0.1 and p,,p2are ranging from 0.1 to 0.9 increasing by
0.1 and p, >p2, al of which are considered at 90%, 95% and 99% confidence levels. The simulation of this
research is repeated 2,000 times in each situation by using the Monte Carlo Simulation method. The
conclusion of this study is as follow:

if two sample size are small in case of equal or small different two sample size, the confidence
levels of The Newcombe * method are not lower than the given confidence levels and the average
confidence interval lengths are shortest when p, - p2is small (converge to 0) to moderate and the
confidence levels of The Recentered method are not lower than the given confidence levels and the
average confidence interval lengths are shortest when p -p 2 is large (converge to 1) and can cover more
levels of sample size incase of more different two sample size

if two sample size are increased, the confidence levels of The Newcombe's method are not lower
than the given confidence levels and the average confidence interval lengths are shortest when .. -p 2is
moderate and the confidence levels of The Recentered method are not lower than the given confidence
levels and the average confidence interval lengths are shortest when p, - p2is small (converge to 0) or
large (converge to 1)

if two sample size are large, the confidence levels of The Newcombe's method are not lower than
the given confidence levels and the average confidence interval lengths are shortest when P! - p2is
moderate and the confidence levels of The Classical method are not lower than the given confidence levels
and the average confidence interval lengths are shortest when p, - p2 is small (converge to 0) or large
(converge to 1)
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